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QUESTION 1

Push the Exhibit Button to load the referenced "XML Document,” and process XML using "DOM Processing". Select
which of the following is the most appropriate expression of the results under XML 1.0. Line feeds and/or indents are not
reflected in the results.

[DOM Processing]
Process ZML using the following method.
Documwent output = updateXML{ doco ) ;
The waricklc doo hore rofocrcnoco the Doguwcnt inotancz of the loadod ENL Docunchnt.
The DOM parser is namespace awvare.
Izsure no exXecution Brrors.

publ:c static Document updateXML | Document doc |
Node datal doc.getElementsByTagameN2 [("urn: xmlmwascer : EX", "datal™).item(0);
Node dataz doc.gecElementsByTagameNS ("urn: xmlmascer : EX", "dataZ™) .item(0);

dotold . appcndChild | datol )i

return doc;
H

A. string value string value
B. string value string value
C. string value
D. string value

Correct Answer: C

QUESTION 2

Which of the following is incorrect with respect to general characteristics of DOM (Level 2) processing and data binding
tool processing?

A. Data types such as integers and dates cannot be handled by DOM; however, a data binding tool can be used to
handlethe data type

B. A validation against the schema cannot be performed with the DOM; however, a data binding tool can be used to
performa validation against the schema

C. A DOM parser cannot be used to execute a program created to use a different DOM parser; however, a data binding
toolcan be used to execute a program created to use a different data binding tool

D. For a compiled programming language, compared to DOM processing, a data binding tool can detect more element
namemistakes and other programming errors during compiling

Correct Answer: C

QUESTION 3
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Push the Exhibit Button to load the referenced "XML Document". When processing the "XML Document" according to
the method shown by "SAX Processing," which of the following correctly describes the output results (print and/or println

method output)? Assume that the processed XML Document has no indents (ignorable white space such as line feeds,
tabs, etc.).
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[2AX Proceasing]
Uze the following "ContentHandlerImpl™ clasa, and parse the ENL Documwent using 3AZ.

The SAX parser 1is namespace avare.
bssume no execution errors.

class ContentHandlerImpl extends DefasultHandler {
hoolean vigiting, date, name:

public woid atartElement |
String uri, 3tring locallame, String oi=mne, ALAttributes attr)

throws 3AXException {

if | uri.equalsi("urn:xmlmaster:VISITY) £& localMNamwe.equals ("ictcivicy™) )
wvisliting = true;
if | wisiting ) {
date = locallame.equals ("DateTime™) ;
name = locallName.edquals ("Name™) ;-
if [ locallName.edquala ("Jaokb™) |
Syatem.out.printlni attr.getValue ("Procedure™)

'

}
public woid endElement (3tring uri, String locallame, 3String oiizne)

throws ZAXException |
if [ uri.egquala{"urn:xmlwaster :VISIT™) £& locallNatwe.equals ("Actiwvity™) |

visiting = false:
if {date) {

System.out.print (" ——— ™y ;
date = false:

} oelze if (name) |
System.out.print ([ F*% )
name = false:

¥

¥
public woid charactera(char[] ch, int start, int length)

throws SAZException f
if [ date || natme )
System.out.,.print | new Itringich, start, length) |;

[EML Document]
<List ¥mlns="urn:xmlmaster:LI3T">
<Date>2004-07-01</Datex>
<Worker Name="Jeff Workman"
xmlns="urn: xmlmaster: TOREER™ />
<WigitLiat>
<hoctivity xmlns="urn:xmlmaster :VISIT"
Code="0001">
<DateTime>2004-07-01 09:00</DateTime:
<Location xmlos="urn:xmlmaster i CONTLCT™>
<MName>He len Edwards</Name:>
</ Location>
<Job Procedure="Inatsll freezer™ Time="1" />
</Retivityr
chotivity xmlns="urn:¥xmlmaster :VISIT"
Code="0002 ">
<DateTime>2004-07-01 13:00</DateTimex
<Location xmlns="urn:=mlmaster :CONTLCT™>
<MName>John Smith</Nams>
</Location:
<Jalh Procedure="Install alr conditioner™
Time="z2" /=
<fhonivitys
</VizitList>
</Liat>

A. Install freezer 2004-07-01 09:00 --- Helen Edwards *** Install air conditioner 2004-07-01 13:00 --- John Smith ***

B. 2004-07-01 09:00 --- Helen Edwards *** Install freezer 2004-07-01 13:00 --- John Smith *** Install air conditioner
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C. 2004-07-01 09:00 --- Helen Edwards *** 2004-07-01 13:00 --- John Smith ***
D. Nothing is output.

Correct Answer: B

QUESTION 4

Which of the following text strings is not output to the results document when performing an XSLT transformation on the
following "XML Document" using the "XSLT Style Sheet" below? Note that the XSLT processor can output
transformation results as a document.

[EML Doocument]
<doc NS1l:title="Title™ xmlns="http://www.Xmlmaster.ory/ exam’
mlnz i N31="http://wuw. xmlraster. org/ exam™>
<kbody Nol:section="value™ xmlns=mrr:
<NS1l:content-Content</H3l:content>

</body>
</ doo>
[E3LT 3tvyle Sheet]
<zatylesheet verzion="1.0" xmwlns="http:// wmw. w3 .orgl 1999/ 5L Transform"”
imlng::NS1="http: /fwww. Xmolmaster . org/ exsm™=
<output method="text™ />

<template match="/"x
<apply—templates select="descendant::*/attribute: :N31:% | descendant::N31:%"/ >

</cemplates
<temwplate match="+* | attrikute::*"s<value-of select="name ()" >, < template:
</styleshest:>

A. doc

B. NS1l:title

C. body

D. NS1l:section
E. NS1l:content

Correct Answer: C

QUESTION 5

Push the Exhibit Button to load the referenced "XSLT Style Sheet".
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[ZESLT 3tvle Sheet]
<x3l:stylesheeset wvecsion="1i.0"

xmlns:xsl="http://vww.w3.org/ 1999/ 8L/ Transform"
Xwlns:pre="acctp://schemas. Xmlsoap . org/soaps e
I:'E.-"l 1]
exclude-resilt-prefies="pre":>

<¥sl:template match="/ | pre:*":
“<xsl:copys
<w=El:apply-templates select="pre:*"/ >
<fual:copy:
</wal:tcemplate:

<x3l:templace macch="pre:Body™>
<x3l:copy—of

gelect="document [ 'sample.xml') "/ >
<fwal:templater
<fxsl:stylesheets

Select which of the following correctly describes the output results of an XSLT transformation of the following "XML
Document” using the "XSLT Style Sheet". Assume that the XSLT processor can load "sample.xml" normally, and output
transformation results as a document. Line feeds and indents are not reflected. Although the expected processing result
is choice "E", processing may not occur as expected.

[ZML Document]

<B30AP-FENV:Envelope =mlns:30AF-ENV="http://=schemas.xml=oap.org/soap/envelope,/ "=
<3DAP-ENV: Body></ 30AP-ENV : Bodys

</ 80AP-ENV:Enve loper

[ample.xml]

<mst:etExambist Xmlns:imsc="urn:xmlmnaster:test >
<mst:titles>XML HASTER</mst:titlex

</mst:GecExanLists

A.
B.
C. XML MASTER
D. XML MASTER
E. XML MASTER

Correct Answer: D
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